CHEM 202

Bioinformatics


Practice #1
Find the nucleotide sequence of the hemagglutinin gene of the 1918 Spanish Influenza virus.  How many bases are in the gene?

Practice #2

Find the mutated gene, APO A-1 Milano.  This mutated gene strengthens HDL, clears LDL and removes plaque (Reader’s Digest 2004, (February), 55).  At what position(s) in the amino acid sequence does the mutation occur?

Practice #3

What mutations in the MLH1 gene have been associated with colon cancer patients? How many.  Write the name of one of the mutations.
Practice #4

A dinosaur nucleotide sequence is printed in Michael Crichton’s book Jurassic Park (
 HYPERLINK "http://www.nd.edu/~chemlib/chem202/jp.html" 

http://www.nd.edu/~chemlib/chem202/jp.html
).  Compare this sequence with other nucleotide sequences in the NCBI database.  What is it most similar to?  Is this similarity something you would expect?

Practice #5

Find 1TUP.  This protein is composed of how many chains?  There are three Zn molecules in this protein – list the amino acids on chain B within 5 Angstroms.

Practice #6
SARS killed 774 people in 2003.  Human Leukocyte Antigen (HLA) genes played a role in who got SARS and who didn’t get SARS.  (Pottinger, Matt. Common gene found in people prone to SARS. The Wall Street Journal, Jan 16, 2004, p A9.)

People who have the HLA-B*0703 allele are more likely to get SARS.

People who don’t have the HLA-DRB1*0301 allele are less likely to get SARS.
What are the locations of these two genes? –  name the chromosome and where on the chromosome?

Practice #7
Find 1H7U. This protein is composed of how many chains?  What is name of the CDs protein?  What is protein is the most structurally similar to chain A domain 1?
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